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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 Define opportunity cost concept.

		  Adga bmJV AdYmaUm H$mo n[a^m{fV H$s{OE&
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	 (ii)	 What do you understand by money costs?

		  ‘m¡{ÐH$/‘wÐm bmJVm| go Amn ³¶m g‘PVo h¢?

	 (iii)	 Which goods have negative income elasticity of demand?

		  {H$Z dñVwAm| H$s ‘m±J H$s Am¶ bmoM F$UmË‘H$ hmoVr h¡?

	 (iv)	 Which characteristic of monopolistic competition makes 

this market different from other markets?

		  EH$m{YH$mamË‘H$ à{V¶mo{JVm H$s H$m¡Zgr {deofVm Bg ~mOma H$mo AÝ¶ 
~mOmam| go {^ÝZ ~ZmVr h¡?

	 (v)	 Define production function.

		  CËnmXZ ’$bZ H$mo n[a^m{fV H$s{OE&

	 (vi)	 Explain the meaning of demand forecasting.

		  ‘m±J nydm©Zw‘mZ H$m Ame¶ ñnîQ> H$s{OE&

	 (vii)	Mention two key characteristics of monopoly.

		  EH$m{YH$ma H$s Xmo ‘w»¶ {deofVmAm| H$m CëboI H$s{OE&

	 (viii)	Distinguish between Gross Domestic Product (GDP) and 

Gross National Product (GNP)

		  gH$b Kaobw CËnmX d gH$b amîQ´>r¶ CËnmX Ho$ ‘Ü¶ AÝVa ~VmBE&

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&
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2)	 Make out the difference between point elasticity and arc 

elasticity of demand with examples.

	 CXmhaU g{hV ‘m±J H$s {~ÝXþ bmoM Am¡a Mmn bmoM ‘| AÝVa ~VmBE&

3)	 How are price and output determined under discriminating 

monopoly? Give diagrams also.

	 {d^oXmË‘H$ EH$m{YH$ma ‘| H$s‘V Am¡a CËnmXZ H$m {ZYm©aU H¡$go hmoVm h¡? 
aoIm{MÌ ^r Xr{OE&

4)	 Explain various types of demand.

	 ‘m±J Ho$ {d{^ÝZ àH$mam| H$mo ñnîQ> H$s{OE&

5)	 How is price of a commodity determined? Support your answer 

with illustration and diagram.

	 EH$ dñVw H$s H$s‘V H¡$go {ZYm©[aV hmoVr h¡? AnZo CÎma H$s nwpîQ> ‘| 
CXmhaU Ed§ aoIm{MÌ àñVwV H$s{OE&

6)	 Explain the characteristics of Long-term Average Total Cost 

(LAC).

	 XrK©H$mbrZ Am¡gV Hw$b bmJV (LAC) H$s {deofVmAm| H$mo ñnîQ> H$s{OE&

7)	 Explain the characteristics of National Income.

	 amîQ´>r¶ Am¶ H$s {deofVmAm|H$mo g‘PmBE&

8)	 What is the importance/uses of managerial economics? 

Explain with examples.

	 à~ÝYH$s¶ AW©emñÌ H$m ³¶m ‘hÎd/à¶moJ h¢? CXmhaU g{hV g‘PmBE&

9)	 Throw light on Long-term production function.

	 XrK©H$mbrZ CËnmXZ - ’$bZ na àH$me S>m{bE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 How a monopoly firm attains equilibrium in short-run and long-
run? Support you answer with appropriate diagrams.

	 EH$ EH$m{YH$mar ’$‘© AënH$mb Am¡a XrK©H$mb ‘| H¡$go gmå¶ àmßV H$aVr 
h¡? Cn¶wº$ aoIm{MÌm| go AnZo CÎma H$s nwpîQ> H$s{OE&

11)	 Critically examine the Keynesian theory of employment.
	 H|$O Ho$ amoµOJma {gÕmÝV H$m AmbmoMZmË‘H$ narjU H$s{OE&

12)	 Explain the ‘Law of Demand’. What are the reasons of its 
applicability?

	 ‘m±J Ho$ {Z¶‘ H$mo ñnîQ> H$s{OE& BgHo$ bmJy hmoZo Ho$ ³¶m H$maU h¢?

13)	 Write short-note on any two of the following:
	 (i)	 Methods of Computing National Income.
	 (ii)	 Innovation Theory of Profit.
	 (iii)	 Investment Function
	 {ZåZm§{H$V ‘| go {H$Ýht Xmo na bKw {Q>ßnUr {b{IE…
	 (i)	 amîQ´>r¶ Am¶ JUZm H$s {d{Y¶m±
	 (ii)	 bm^ H$m Zd-àdV©Z {gÕmÝV
	 (iii)	 {d{Z¶moJ ’$bZ


